Assembly Instructions

1200 x 450 x

25 mm

1

% R

x 410 x

37 mm

x 393 x

15 mm

815 x 272 x 3 mm

x 410

X 37 mm

250 x 150 x 15 mm

: 815 x 272 x 3 mm

1

x 415 x

15 mm

250 x 150 x 15 mm

/\Q

O

1

X 15 mm

2

292 x 148 x 15 mm

1

534 x 360 x 12 mm

2

\ 310 x 16 x 16 mm

2

o



Assembly Instructions

180 x 135 x 18 mm

1

300 x 115 x 12 mm

180 x 135 x 18 mm

1

486 x 115 x 12 mm

634 x 268 x 15 mm

1

634 x 268 X 15 mm

287 x50 x 12 mm

2

388 x 80 x 13 mm

N
O
S
™~

1

\\

634 x 268 x 15 mm

(

j

2

é% 634 x 268 x 15 mm

0



Assembly Instructions

Cam Boltx 2

Runner 300mm x 1

®

Cam Bolt x 2

3*12mm Screw x 6

e

Runner 300mm x 1

>~

Runner 300mm x 1

7




Assembly Instructions

‘e 3 N
Step 3

6*50mm Screw x 2

@M @@)

\im Bolt x 4 Magnetic impact x 2




Assembly Instructions

Cam lock x 4

\fmm Screw x 4 6*30mm Dowel x 2




Assembly Instructions

6*30mm Dowel x 4

am Bolt x 6

®
e
=




Assembly Instructions




Assembly Instructions

-

@ %
6*30mm Dowel x 6
© M

4*35mm Screw x 6

®

&

W
\ﬁter X3




Assembly Instructions

ep 13 ®%>® \

3.5*12mm Screw x 9

©

\3‘12mm Screw x 9




Assembly Instructions

3.5*12mm Screw x 12 hinge x 4

©

\3‘12mm Screw x 12




Assembly Instructions

ep 17

Y/




Assembly Instructions




Assembly Instructions

4*14mm Screw x 12

®© 2,

Suction sheet x 2

L .

26mm x 4 h

3.5*12mm Screw x 8

4*18mm Screw x 4

\ ._
\H\Old hands x 2 "




Assembly Instructions

Step 23

Ng

© & ~y -
\i4mm Screw x 8 N .“@




Assembly Instructions

*35mm Screw x 10

®
o
\e




Assembly Instructions




Assembly Instructions

Hold hands

4*8mm Screw x 4

Cam lock x 8

Cam lock x 2

Runner 300mm x 2

Runner 300mm x 2

®

3*12mm Screw x 12




Assembly Instructions

J e\

AL

Step 31




Assembly Instructions




